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QUESTION 1

When posting to the microblog. the body of the POST message is an ActivityEntry object. Which field in the ActivityEntry
object is mandatory?

A. userid

B. content

C. message

D. ActivityEntry object can have no properties.

Correct Answer: C

QUESTION 2

By default, when does the PushToCredStore agent run when a widget is approved on the master server?
A. immediately

B. once every hour

C. once every two hours

D. once per day at 12:00 AM

Correct Answer: B

QUESTION 3

Which is a valid JSON object?

A. "nameVMarko"

B. "name":"Marko"

C. ,['name":"Nikola"."deptM:"project management"]

D. [Mname”"Olivera®,,dept,,: 7rontdeskl,[Mname”"Milan”,,dept?,,"Mechanican"]

Correct Answer: B

QUESTION 4
Which reserved variable is available anywhere within the gadget?

A. Prefs
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B. Owner
C. Module
D. ViewParams

Correct Answer: C

QUESTION 5

Jason configured Apache Shindig to host social applications. What functionality does the OpenSocial Container
JavaScript provide?

A. Ul layout

B. feature extensions

C. security management

D. profiles, friends, activities, datastore

Correct Answer: D

QUESTION 6

Jovana want to search all Profiles for users with the name Smith, using the Profiles Atom API.
Which URL would she use?

A. Iprofiles/search.do?name=Smith

B. /profiles/atom/search.do?uid=Smith

C. /profiles/atom/query.do?name=Smith

D. /profiles/atom/search.do?name=Smith

Correct Answer: B

QUESTION 7

Danica needs to consume an OpenSocial gadget in her IBM Notes Web application. The rendered page is generated
from a Form design element.

What is the best way to add an OpenSocial gadget to her web-based Notes Form?

A. Create a computedText field and make it a Pass thru-HTML text area. For the computed value enter the appropriate
Javascript within . ,tags.

B. Create a computedText field and make it a Pass thru-HTML text area and call @GetOpenSocialStream
(URL;UserName;Password);.
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C. Create a Form text field and make it computed. For the computed value enter in
@GetOpenSocialStream(URL;UserName;Password);.

D. Create a computedText field and make it a Pass thru-HTML text area. For the computed value enter
@AjaxRequest(URL;UserName;Password);.

Correct Answer: A

QUESTION 8

How would this markup be corrected?

Hello ${viewer.Name}!

A. There is no flaw with the markup as shown.

B. The expression should be referenced {$viewer.Name}.

C. The script type must be .

D. The variable viewer. Name must be tested for null prior to use in an expression.

Correct Answer: C

QUESTION 9

Which service must an OpenSocial container support?
A. Group

B. Social

C. People

D. Common

Correct Answer: A

QUESTION 10

What are the functions used to read and write OpenSocial data collectively known as?
A. AppData

B. Data API

C. JavaScript API
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D. OpenSocial Persistence API

Correct Answer: D
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